
3/26/2010 QC Accessory Uni-Dock Adapter Kit.idw

 

Part # 1019486
QC Accessory Uni-Dock Adapter 
Kit

Parts List
DESCRIPTIONPART NUMBERQTYITEM

Prt Channel QC Accessory Uni-Dock Adapter101948511
Bolt Bag QC Accessory Uni-Dock Adapter10194871--

Bolt Hex 3/8-16 x 5.0  SS 304100244422
Screw Flat Phil 3/8-16 x 1.0 SS100056343
Washer Flat 3/8 SS100259924
Nut Flange 3/8-16 Brass100180265

5

1

3
5

4

2

QC Accessory

ShoreMaster Uni-Dock

Step 1: Attach QC accessory to QC accessory 
Uni-Dock adapter channel using 3/8 x 1 screw 
flat and flange nuts.
Step 2: Slide QC assessory Uni-Dock adapter 
channel onto Shoremaster Uni-Dock and drill 
7/16" holes vertically through rail and attach 
channel using 3/8 x 5 hex bolts and flange nuts.


